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qhe following are graphs to be sketch on the opposite side of the paper. You MUST use accurate points. Show all
iterations of the multiplier and shifts in different colors. After, state the domain of the function in interval notation.

1.f(x)=-3¢x 4.f(x)=-1]x+2+7 7_f(x)={xz;)t<2

-X+6; x>2

09 8 -7 -6 5 43

"."‘,o ¢

2-L.W!1I 23 40 07 89

R

'EEEEEE

EREEE R

=
o
o

Domain: "& (o) Domain:

Domain:

2
i (x)=3m§xl 5.f(x)=-2V=x
Domain: (" &.&\' Domain: —|X+6|+3: -9<x<-3
g T 8.f(x)=1x*-9; -3<x<0
1 1
3.f(x)=(2x] +4 6.f(x)=(x—4)/ 4 Le-9;x20
Domain: (s &,l 0 J Domain: Domain:
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1.f(x)=—3§/;

Domain:

2 f(x)=3|[§xm

Domain:

3.f(x)=(%x]3+4

Domain:

The following are graphs to be sketch on the opposite side of the paper. You MUST use accurate points. Show all
iterations of the multiplier and shifts in different colors. After, state the domain of the function in interval notation.

4.f(x)=—1éx+2|+7 7.f(x)={x2;X<2
Domain; _{ =N Ob\ —x+6;x>‘2'
P Domain: -
5. f(x)=-2v-x ,
Domain: (‘ &’, D] —|X+6|+3; -9<x<-3

6.(x)=(x-4)

Domain:

8.f(x)=< x*-9; -3<x<0

sl (- &,Q)D ;
omain:

lx—9;x20
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The following are graphs to be sketch on the opposite side of the paper. You MUST use accurate points. Show all
iterations of the multiplier and shifts in different colors. After, state the domain of the function in interval notation.
1f(x)=—33/; 4.f(x)=—1|x+2|+7
Domain: Domain:
2.F (x) =3 3x =
5 o.f (x)= -2V—-x
Domain: Domain: —|x+6|+3; -9<x<-3
. 8.f(x)= x*-9; -3<x<0
: 1
3.flx)=| =x | +4 2 1.  a
f( ) (4 ] 6.f(x)=(x-4) o x-9;x20
Domain: Domain: Domain: [" 9 y A )
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Evaluate the following based on the graphs of f(x) and g(x).

=, =5
- "‘ 5f(-5)+g'(4)= 5(-3){' C4)=-19
9(-4)= ' (Fea)icti= S (q) =0
)= X
5= ~ L (g7f)7)= 5'(-5}: "2
g (=5)=
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State three attributes of inverse functions.
a. he he y=x |
b. The. domatn Gad mn’%res switcdh
o - -1 *

c. 3[ $ )N =X and [}(x)} EX
\_ _J
a )

Find the inverse of the following functions. Restrict the domain if necessary. Be prepared to state if the
function is one-to-one and describe a test the reveals this attribute. Be prepared to decide if an inverse

function cannot be determined by algebraic means.

hx) =22 41 f(x)=—2Vx—4 g(x)=2(x~4) -1
. X*-1{y-9 x=2(y~4)-I
. +
Lk | 5x.3 -‘)5(.':{7_-? E2L =(y-0)"
{ X-1z -3 (X)= _,+.i T )
m h(x)= 22 y.qs (-;5& =M X+
(x-10(2y-9)=-3 E T‘: +4 C ‘ 4
S b §7eye Ko 44} x <O 3 (")‘t{-z;rw
Y(2x-2)= S5x-3 q°
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Verify the following functions are inverses algebraically, numerically and graphically.

1
<! x-3)3 NORMAL FLOAT AUTO REAL RADIAN MP |
qx=| =

% 1 ¥1 Y2

S? 0

s)z5% 93)s0 & [Tl < .

§69=3 5(0)=3 '\"‘“X I gx)l /
L 5

P o) 30509 ( ‘
$Tow)] ol

Z[("" ]’4_3 [(zx’v;)ﬂ’]g
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X443 = X X
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f(x)=2x°+3
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Given the graph of f(x) above, sketch
graphs of the transformations of f(x)
described on the right
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Suppose a cylinder’s radius is changing 4 inches per minute. If the cylinders is 14 inches tall AT ALL \

TIMES, write a function for the cylinder’s volume (cubic feet) with respect to time in minutes. Then use
the function and your graphing calc to complete the table below.

V = 7rh is the volume of a cylinder so you don'’t have to google it. Time in Volume in
y y goog Minutes  Cublc Feet

~ ,Incctases ‘(wks/m 1 0,403 :
@ s 10,181 R
0 4034

v is alwnys (dinches 2 [42.393FF
-, O VIDTECR)

Nod to convect b0 Feek bo e 2
ansuy Problem torrectly. Vor(f)= W[‘/g{\ (:}/b>
‘l(nchs/m ol R ‘
inches — %, Feut

y Y
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